D3POC0173 - PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: DISTRICT 1 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN ONSLOW & PENDER COUNTIES UPON REQUEST

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	2,100	LF	\$28.38	\$59,598.00
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	8,400	LF	\$26.17	\$219,828.00
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	55	SMI	\$3,676.87	\$202,227.85
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	155	SMI	\$3,442.58	\$533,599.90
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	105	SMI	\$4,601.33	\$483,139.65
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	315	SMI	\$4,395.59	\$1,384,610.85
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	55	SMI	\$4,646.35	\$255,549.25
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	155	SMI	\$4,412.07	\$683,870.85

TOTAL BID:	\$3,822,424.35	
		_

CONTRACTOR Morgan Trucking & General Construction, Inc

ADDRESS P O Box 91 Shallotte, NC 28459

Federal Identification Number 46-3518978	
Contractor's License Number86254	with cking
Authorized Agent Tarkessio Landis Morgan	
Title President	
Signature	Tenal E
Date 7/19/23	. Co.:
Witness_Natia Brown	
TitleCorp. Secretary	i.
Signature Nata Date 1 19	23
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, I	Bonds, and Contract Execution)
Name Tarkessio Landis Morgan	
Email morgantrucking10@gmail.com	
Phone 910-842-8035-Office/ 910-386-9407, Cell	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPA	RTMENT OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Speci	fications for Roads and Structures 2018.
Reviewed by NCDOT Mary Kimmel	Date 7/20/2023
a allite	7/2 /200

D3POC0173 - PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: DISTRICT 1 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN ONSLOW & PENDER COUNTIES UPON REQUEST

D3POC0173

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	2,100	LF	\$65.00	\$ 136,500.00
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	8,400	LF	\$65.00	\$ 546,000.00
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	55	SMI	4950.00	\$52,250.00
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	155	SMI	\$950.00	\$147,250.00
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	105	SMI	£450,00	\$47,250.00
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	315	SMI	\$450,00	\$141,750,00 V
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	55	SMI	⁶ 3,700.06	\$176,000.00
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	155	SMI	\$3,200.00	\$496,000.00

TOTAL BID:	81,743,000.00	

CONTRACTOR JMC Clearing & Mulching LLC

ADDRESS 4959 Harrison-Phelps Rd. Labrange, NC 2855/

Federal Identification Number 85 - 1829 790						
Contractor's License Number 119583						
Authorized Agent Jaime Moore	CORPORATE SEAL					
Title Mamber / Owner						
Signature	CORPORATE SEAL					
Date 7-15-2023						
Witness Judy Harrison						
Title Witness						
Signature 2 15-2023						
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bo	onds, and Contract Execution)					
Name Jaime Moore						
Email jaimeharrisonmoore@gmail.com						
Phone 152-559-9960						
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION						
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2018.						
Reviewed by NCDOT Mary Kinnel Date 7/20/2023						

D3POC0173 – PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: DISTRICT 1 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN ONSLOW & PENDER COUNTIES UPON REQUEST

LINE#	ГТЕМ#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	2,100	LF	22.80	\$47,880-2
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	8,400	LF	22.80	\$191,520-
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	55	SMI	4,800-	\$264,000-
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	155	SMI	4,800-	\$744,000 M
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	105	SMI	5,700	\$598,500-
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	315	SMI	5,700	\$1,795,500-
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	55	SMI	2,760-	\$151,800-
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	155	SMI	2,760-	\$ 427,800 -

TOTAL BID:	\$ 4,221,000.00 V

CONTRACTOR	PEIDE	CONTA	acting,	Inc.				
ADDDDGG	121 -2	C 0 O	- 111-10	000	Para	110	77007	

Federal Identification Number 46-3191475	
Contractor's License Number 74171	COMPORATE
Authorized Agent ERICS: WAINWRIGHT Title CORP. SEC. POPERATIONS	SPAI.
Signature	CORPORATE
Date_7/19/23	
Witness CARROLL RAYNOR	
Title_SECRETARY	
Signature	
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, an	d Contract Execution)
Name Eercs, WainweigHT	
Email ericaprideinc. net	
Phone (252) 702-9609	
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT	T OF TRANSPORTATION
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for	or Roads and Structures 2018.
Reviewed by NCDOT Mary Kinnel	Date 7/20/2023

D3POC0173 – PURCHASE ORDER CONTRACT BID FORM

<u>Description</u>: DISTRICT 1 ON CALL (ID/IQ) ROADWAY MAINTENANCE CREW STATE IN ONSLOW & PENDER COUNTIES UPON REQUEST

LINE#	ITEM#	SEC	DESCRIPTION	QTY	UNIT	UNIT PRICE	AMOUNT BID
1	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Primary Routes	2,100	LF	40.55	85,155.00
2	0257000000-E	SP	Minor Shoulder and Drainage Ditch Maintenance Secondary Routes	8,400	LF	34,55	290,220.00
3	0264000000-E	SP	Major Drainage Ditch Maintenance Primary Routes	55	SMI	4860.00	267, 300.00
4	0264000000-E	SP	Major Drainage Ditch Maintenance Secondary Routes	155	SMI	4260.00	660,300.00
5	0264000000-E	SP	Maintenance of Shoulders AND Ditches Primary Routes	105	SMI	8110.00	851,550.00
6	0264000000-E	SP	Maintenance of Shoulders AND Ditches Secondary Routes	315	SMI	6910.00	2,176,650.00
7	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Primary Routes	55	SMI	3250.00	178,750.00 ~
8	0264000000-E	SP	Major Shoulder Maintenance/Reconstruction Secondary Routes	155	SMI	2650.10	410,750.00 ~

TOTAL BID:	\$ 4,920,675.00 V	

CONTRACT	or	,	Lanier	Inc				2
ADDRESS	282)_	Harris	Creek	Rh	Jackson Ville	nc	285

Federal Identification Number 20-5487069								
Contractor's License Number 63573								
Authorized Agent Tim Lania	CORPORATE SEAL							
Title President								
Signature	CORPORATE							
Date 7-20-23								
Witness Ashleigh L. Williams								
Title Secretary								
Signature as March L. Williams Date 7/20/2023								
Point of Contact for Post-Bid Inquires (e.g., Letters of Intent, Insurance, Bonds, and Contract Execution)								
Name Tim Lanica								
Email time lander grading com								
Phone 410- 340-3394								
THIS SECTION TO BE COMPLETED BY NORTH CAROLINA DEPARTMENT OF TRANSPORTATION								
This bid has been reviewed in accordance with Article 103-1 of the Standard Specifications for Roads and Structures 2018.								
Reviewed by NCDOT Mary Kimmel	Date 7/20/2023							
Reviewed by NCDOT Mary Kinnel Accepted by NCDOT Jouthan Watth	Date 7/20/2023 Date 7/20/2023							

Accepted by NCDOT Jorthan Matthe